
 

1

1

1

2

3

4

5

5

5

5

6
7

8

9

10

11

11

12

13

14

1515
16

1717

181818

19

20

21

22

23

24

25

25

26
27

28 29

30
31

31

32

33

33

33

34

35

36

37
38

39
40

41
42

43

44

45
46

47

48

49

50

51

52

53
54

55

56

57

57

58
59

60

61

62
63

64

65

66

67676767

68

68

68

www.palfingerepsilon.com

M100LD97 # 202475608.050-A

06/2012

DM9L/DM10L

Clic
k t

o b
uy N

OW
!PD

F-XChange Viewer

w
w

w.docu-track.c
om Clic

k t
o b

uy N
OW

!PD

F-XChange Viewer

w
w

w.docu-track.c

om

http://www.pdfxviewer.com/
http://www.pdfxviewer.com/


www.palfingerepsilon.com

M100LD97 # 2024756 08.050-A

06/2012

DM9L/DM10L

1 YE51009 2 M8x20 DIN7991 8.8Screw
for DM10L

2 YE50028 4 M6x30 DIN 912Cheese-head screw
3 YE50019 3 M10x25 DIN933 8.8Hexagon screw
4 YE50008 2 M12x20 DIN933 8.8Hexagon screw
5 YE50018 8 M8x16 DIN933 8.8Hexagon screw

for DM9L
5 YE50018 6 M8x16 DIN933 8.8Hexagon screw

for DM10L

6 YE52001 2 M12 DIN985-8Nut
7 YE19002 2 Bracket
8 YE19182 1 Bracket
9 YE19183 1 Hood
10 YE19193 1 Bracket

11 YE51005 8 M8x25 H 1125Hexagon screw
12 YE58036 1 Inclinometer
13 YE62002 2 15 barPretension valve
14 YE62038 1 Restrictor
15 YE63007 1 26VMagnet coil
15 YE63008 1 12V                   Magnet coil

16 YE63017A 1 24VSolenoid valve
YBD118 1 Seal kit

17 YE63025A 1 24VMagnet valve, cpl.
17 YE63026A 1 12V                   Magnet valve, cpl.
18 YE67019 1 Filter

YE67022 1 Filter element
YE67064 1 contamination indicator 2,5bar

18 YE67022 1 Filter element
18 YE67064 1 2,5barcontamination indicator
19 YE70007 8 SV 12LFitting
20 YE70008 2 EL 12LFitting

21 YE70010 1 EMA3 R1/4-EDFitting
22 YE70018 1 GE 8L R1/4-EDFitting
23 YE70027 1 EW 15LFitting
24 YE70040 2 EGE 12L R3/8-EDFitting
25 YE70041 2 GE 15L R3/4-EDFitting

26 YE70049 1 VKA 8                 Fitting
27 YE70050 1 M 8LNut
28 YE70052 10 SV 18LFitting
29 YE70055 1 GR 18/15 LFitting
30 YE70087 1 GE 25S R1-EDFitting

31 YE70104 2 GE 25S R5/4-EDFitting
32 YE70112 1 EGE 25S R1-EDFitting
33 YE70120 6 RED 18/15 LFitting
34 YE710009 1 15x1.5Hydraulic pipe
35 YE710363 1 12x1.5Hydraulic pipe

36 YE71037 1 28x2Hydraulic pipe
37 YE710432 1 12x1.5Hydraulic pipe
38 YE710433 1 12x1.5Hydraulic pipe
39 YE710434 1 12x1.5Hydraulic pipe
40 YE710435 1 12x1.5Hydraulic pipe

41 YE710436 1 12x1.5Hydraulic pipe
42 YE710437 1 12x1.5Hydraulic pipe

Description DimensionNo. Qty.Spare part

Clic
k t

o b
uy N

OW
!PD

F-XChange Viewer

w
w

w.docu-track.c
om Clic

k t
o b

uy N
OW

!PD

F-XChange Viewer

w
w

w.docu-track.c

om

http://www.pdfxviewer.com/
http://www.pdfxviewer.com/

